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An amount becomes 8/5 times of the .
original sum in 6 years at a rate of
simple interest. What will be the
compound interest of Rs. 12000 after 3
years at the same rate?

drg T, ﬁl’:—\tﬁ X W 6dY &
JIYROT ITT & THTd AIRTHG A
T 8/5% STl & | 12000%. U 3&T

TSl &X | 3dY Tl

T EIITN?

A) Rs. 2260 B) Rs. 3320
L€)Rs. 3972 D) Rs. 6540




M/ MATHS /

Q. A train covers a distance between
station A and station B in 45 minutes. If
the speed of the train is reduced by 5
km per hr, then the same distance is
covered in 48 minutes. The distance
between stations A and B is

Teh YOTTTTET A qAT B TIMT o ofter sl g
45 THAET W T Thdl g IS 3 LTS shl
TTTd W 5 TeRti/eieT shT ShHET SR &1 SATT T
2t T 48 foeh § a7 et 31 99T, A
AT B I o sfter ot it fomart 22

(a) 60 km (b) 64 km

(¢) 80 km (d) 55 km
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afe 7a5b642 G&AT 9 U R T

aT (a+b) ST =AAH H AT hISTT)
T as b ¢4 2 If 7a5b642 is divisible by 9, find

the minimum value of (a + b).

QyHa+2\& A) 1
’ B) 2

\U a3
D)5

E) None of these
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2, A &Y 5 TfereTe o, Ba?rlsuﬁvmamé;
FOR T 3T B <kt 10 Tfd9ra 31T C &% 20%
I & JER 31 Al C T AT 2000 TU B
AT A ST et AT TeRaT gt

5% of income of A is equal to 15% of

income of B and 10% of income of B is
cgz()oo equal to 20% of income of C. If the income
of C is Rs. 2000, then the income of A :

a. 6000

b. 9000

12000

d. 18000
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forr 3 weR % 1 ey e shwT: € 30 / foRe, % 26 /
m‘rwsm/ﬁm‘r@ﬁw%ﬁuﬁmwmzﬂ
foRett 21 9% i R o 1§ fretmar § o frsror @6t % 35/

forett wR ST 31 foE= 1 o ufaera FiTe shifetu)
Vlnay bought

)f each three types of wheat at

he profit percentage made by Vinay?
A) 20%
B) 25%
C) 28%
D) 32%
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3 aﬁqﬁswaaqssqﬁwaﬁsﬁwo
Y oft| Ueh ool ehi SI+H chl IS8 § 31T URER

S
Qoxg@—ﬂ <hl HTHA AT 19%; TN Bl Todl hl TAH AT

@ Three years ago, the average age of a family
CX[9S G of five members was 20 years. Due to the

birth of a new child, the average age is 19%
years today. The present age of the child is:

A) 1% years \B)/z years

C) 3 years D) 2% years
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Tte fereft Ffea a‘—lTrf§Tah‘r 5%
TASh (g, AT hl G H 2 T AT
TAsh (g, sAT ¥.328 7T, a1 3¢
&I ST ETLITUT SIATST ST SRTT?

compound interest on a

certain sum for 2 years at the
rate of 5% p.a. is Rs. 328, the

simple interest will be:

Rs.200 B)Bi{410




The ratio of monthly income of A and B is 7 8
and their monthly expenditure is 3:4. If each of
them saves ¥ 2400 per year, then find the sum of

their monthly income.

A AT B o AT 37T T U 7 : § B 3T 3Tk
W @ T AT 3 : 4 §l TR I TAH
e 2400 TETA 3, a7 3k ATIYCh 3T ST JRT

T Rl
(A) T5000
(B) ¥750

Wﬂ

(D) 7500




The length of the medians of a triangle is

15 m, 20 m, 25m respectively. Find the

area of triangle.

__i \) s () CS-‘»)CS-Q

\'1 \/3b)< lS)( lo/( S

m

- TRt o o ATfeaeRTaNl hi Tt SHAST:
15 ®.,, 20 ®t, q9T 25 H. 7 Gy @
SAHA FTd il
(A) 300 m?

(B) 400 m?
mz

(D) 500 m?
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The price a machine depreciates every year at 10% on
its value at the beginning of the year. If the current
l © 3 value of machine is 7290. What was its worth 3 years

h ago?
@ T AN o I | et aefia &1 969, 31U 7969 | 10%

&1 Y KA 2T 2 aﬁwﬁ-—rwaﬁnnn—q 7290 ¥, A

- 3 o O, TRt Hod RIT o2

t\ ) 10000
EE— (B) ¥11000

/\cc) % 7500.87

(D) ¥9470.70




The SI on a certain sum is 4/25 of the

sum, find the time (in no. of months),
If rate percent and time (in years) are

equal.

feret Ttgra TifoT W wTamoT s 39
T AT 4/25 7l TTG T HT TTa91d 3R
U (T9 W) GHH B, O GRA(HR I H)
AT R
(A) 36 Months

48 Months
(C) 60 Months

(D) None of these/37H ¥ hIg A&l
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If x = 64 and /X + 3/y =3\/216 ,
theny=7?

o= &
(A) 27 T J

C@(B)M L~ fﬁ_: C
SHEE

(D) 125
a - QZ %\@
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The cost of fencing a circular plot at
§ o>/ the rate of Rs. 15 per meter is Rs.
@ 3300. what will be the cost of

flooring the plot at the rate of Rs.

KQITY= L2 100 per square meter ?
22X 15 %. Ui #eX & e & Th
VT oz JAThR Telle & geRiGal a1
- Bl @I 3300 &. &l 100 T ygfd a1
@ HIeX T eT T TAIE & B IdT
AZTTY =< T @A TehdaT EIIT?

7% 5 X [ '£73,85,000 2. 2,20,000
S 53 ) 3. 3,50,000 4. 4,50,000
Qs —  |lox 38




4 3
D &
3 ™
'f; ¥, i 3
:\, <47 A \0"
LD
0“'?"mu‘"v"“‘
9 gz SR
e gy

The s1mp11ﬁed form of

- 1) (1 6) (1 —4—19)
ﬁ%ﬁ/ A) 1/ ' ‘ﬂ"]
(B)
(C) 1/50
(D) None
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A shopkeeper allows 23% commission on his

C() X [lo advertised price and still makes a profit of
v 10%.) If he gains @n one item, then

what is the advertised price of that item.

MM/%% ®E THESR U4 fofua Jea W 23%
s =11 2 T T ST 3T ¥ o TR AT o 10%
Q‘ y ﬁ M\?l [QN T TTH HATAT gl AT T§ Tk T W H112 &

= — B HATHT THATAT 8, AT IHRT (AATTUT Hod T 82
(A) Rs.800
(B) Rs.1200
(E)Rs.1600

(D) Rs.1500




The average monthly salary of A and B is Rs. 14
000, that of B and C is Rs.15, 600, and that of A
and C is Rs.14, 400. Monthiy salary of B is

A T B Y Sftad fteh ST T (14, 000D B AT C
HT T "HIRSR = {15, 600)TAT A AR C Y
/@%H):'M@O o ot " 311'&5)1\4,400 | B <Y wTferen o ¥

_ (A) & 12, 400 —

] *“JrC: WQ (B) & 12, 800

(©)F 15, 2(@

J O@K\ (D) % 16, 000




replaced by a young member. How much younger is the

new member to the old member?

fereht wfirfar & =& Teeat it ofted oty o off 3t € @
Rt 7 2 ot g oft wRiifeR ueh arfiren Sy aTer T W
Teh Tagaeh I TEciT 41§l I HETd hi Forr | 41
Uey fehaaT BeT 82

(A) 20 years

(B) 15 years

(C) 10 years

(D) 2 years




S /.= |0
o _/[,D—L
| K= I
i&m

Rs.10. The cost price of the article is
foRet ST&q T 15% TAT 10% o ATAT

¥ SO O T forsha 7ot o o B
10 B & T 3HT T ©-
(A) Rs.100

(B) Rs.120
(C) Rs.150

Wzoo
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A man bought 20 dozen eggs for Rs. 720
What should be the selling price of each

/ 2 X2® egg if he wants to make a profit of 20%?
QYo=T120 ToRET STTEHY 7 20 T 31 & 720 H @R T
220 Tfa ofer fora W & 9 atfer 3® 20% T
=220
<4 AT B2

Sf ;@6 (A) Rs.3.25

o\ (B) Rs. 3.30

— 3¢ (C) Rs. 3.50

(D)LRs. 3.60
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If a=23,b=32and c=-35.5,

then the value of a° + b® + ¢* - 3abe
Li_s__,q L —Lc—C o)

afda=23,b=329ATc=-55%,

ar a® + b + ¢ - 3abcehT A B

(A) 11

(B) 10

(C) 3

0
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3 | The area of an isosceles
=z C“f;/"/w'@\ @—N right-angled triangle is 121
T sq.cm. Find its hypotenuse.
- fCay , - a HATCHTE HHPIOT TS
- Lxaz 12| FT TRT 121 sq.cm &
— Q=21 X 2 RS &1 FuT A1

| - = |
\3 H.x \J (a) 23 cmMc) 21
cm (d) 20 cm
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If a man 30% less efficient
than woman and take 30
days to complete the work.
In how many days can both
complete the same work.
A3 T3 UET HIEeT Bl a1 7 30%
SR ShT THITA & AT hTH O A |
3( f& T 2| forad 134T ° 21471 Uk 2
hTH Rl O T Fehd 2|

1. 18

3.24 4.27
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@ /mb>

‘ 2 A+

O e

®

A can do a piece of work in 20 days in
15 days. With the help of C, they finish the

work in 5 days. C can alone do the work in

A TRET ShTH ohT 20 TS W & ThaT § 3T B,
15 T2 W &Y Tehat gl C Rl Ae&aT 9 o 5 &
U ST GUTH & od gl C 3ThelT 3T h1d i
forae fam o o

(A) S days

(B) 6 days

(C)10 days

D ays
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In AABC, if 4 ZA =3 4B =12 £C,

[ ALLBLLC then find Z A ?

] - .
A §,—/£'L AABC %, afg 44A =3 LB = 12 £LC

A 2N, a7 £ A ShT HTH I ZIT 2
(A) 22.5°
Ao (B) 90°

JJQCQ‘_ Z?Q L('Cﬁso
/ﬁ} A= o oz

YR

— .Y




9, |
%

12
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Three numbers are in ratio of
13. If the difference
between last two numbers is 28

then calculate the sum of first
two numbers.

A1 H@AT 7: 9: 13 o ST § 7 afg sifad
2T TEIT3Tl ok o<l ohT 37d¥ 28 2 a7 Uget 2l

GEATHAT oh TR <kl TUTT hi?

1. 14 2.56 3. 84
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FIND THE SUM OF SQUARES OF FIRST 5 EVEN NO.
UUH 5 G GEIATT & I3l &l J9T AT hITord |

( (2)240 (3) 245 (4) 115

%—_ n Gh) G

%x x€x ||
ZBXH
— 23
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15°

| 1§

ol

Find the Remainder when
41424344454647484950|is
divided by 8

AU AT hITAT
41424344454647484950
B 8 O AHTaa fohar

ST ©
1) 2 2)3

3)4 (_4)6




The product of two numbers is 120
and the sum of their squares is 289.
The sum of the number is:

al HEITAT T IUTAH 120 &

3T 39 9t T AT 289 T
A)22 B)32 ()23 D)46




The sum of two numbers is 6000. If the first
number is increased by 20% and the second
number is increased by 25%, then the sum will
be 7400. How much is the second number?

al &I T AT 6000 & Il  uUgel

gear & 20% H gig el & 3R qafr
JEAT H 25% & gig adr & o
7400 B9 GO’ T&AT fohcell &2
(a) 4000 (b) 2000  (c)1800 (d) 1500

31
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. >/L7L SXY1=28 2%

7/'7_ —Y 2XS =285

QA RYINS
C3= &3—

2 Quwd

]

A sum of Rs 6300 is divided among
three person X, Y and Z in such a
way that the ratio of share of X:Y is
7:5 and Y:Z is 4:3. Find the share of .
6300 TUY I A PI I Ifh
X,Y3R z&d §F 39 g dicl
AT & fF XY *eq @r
AU 7: 5 3R Y: 2T 3T
4: 3 | YHT fo&ar A1d Hifav|

a)1200 b)3000
c)1500 \gpo(
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The ratio of milk and waterin
o ) ER mixture of four containers are 5 :
=71 ?_)_"J ?l 3,2:1,3:2and7:4respectively.

In which container is the quantity

(gcu S/ @ < 2> of milk, relative to water,

minimum?

IR I & AT A g 3R
UTAT hl 3Tt ShaART: 5:3,
2:1,3:2 3R 7:4 &| T Ui A
Uil &b GTUET g &t AT
I 2

a) First (b) Second

\(c) Fhird (d) Fourt







2
M S 28
A\ yl
¥ 3
b JJ A K
4"(, ow‘"
=
e
3:.'?,”‘..-

. 7Y — 2
{{(180 + 452 — 48) +~ 8] — 34}

a)10  (b)6  (c)7 W

5&&1

JB\C;
T,

3
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FN T
—q -+l
dle+0s
+2— o\

Sy 2
e

KA

Rehaan purchased a bike for X 54,000. He
sold it at a loss of 8 per cent. With that
money he again purchased another bike and
sold it at a profit of 10 per cent. What is his
overall loss/profit?

Gl o 54,000 H THh d5h @Gl 3T
58 8 Ufaerd & Jhdld WX J9d f&ar| 39
49 ¥ 399 R O o 3R aBd @l
3R 38 10 gfard & oy W o &l
3HDT Pl BA/TH AT 2

A — Loss of X 657

B — Loss of X 648

\_e=Profit of X 648

\

D — Profit of X 567
E — None of these




M/ MATHS /

Rubina decided to donate 16% of her monthly
salary to an NGO. On the day of donation she
changed her mind and donated Rs. 6567,

which waf what she had decided
earlier. How much is Rubina’s monthly salary?
TdIAT o 370 HATRAD ddd &l 16% Th
TASNIT Pl & B hl her fhar| e
& T 38 3T AT deo forar 3
6567 ¥UY &I A SU| ST 394 Ugel dd
ThT & &r 75% ATl TGIAT Bl ATRAD Il
fohclalr &7

A )Rs 8756 CBJRs 54725

C ) Rs 656700 D) Rs 54800




14 3

D &

A\ v
Y=
- ¢! [ o
‘%‘s o,,"\o

Crion ¢
afen, =

A shopkeeper bought pens at the rate
of Rs. 1,350 for 15 dozen pens and
sold them at the rate of Rs. 490 for 5
dozen pens. His percentages profit or
percentages loss is :

Ueh GahlleR o 15 Goldl Ul &
forT 1,350 3Uy T T @ U
T{IET| 3K 3¢ 5 Gold Ud &
forT 490 TUY & 2T T =T |
3gbT UTard ofH a1 gfagra &1 a

%;.

m (b) Profit 15%

(c) Loss 15% (d) Loss 10%
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A pair of jeans marked at Rs. 960 is
offered in a department store for
Rs. 816. What is the percentage of
discounts given by the
shopkeeper?

g T Tk el 39y g ™fed
960 ¥UY & foIT T Burcdc
T H 816 F. <hl UAHR
%ngvlo—lqu gRT cl 95 C Dl
gfaerd &ar g2

(a) 17.64 (b) 17

()15~  (d)16




2= I MISSION SSC 2023 BT\ TRV

s

Two positive numbers are
in the ratio 8:13. If the sum
of the squares is 2097,
then the sum of the two

numbers is:

al UATcHD E&ITT 8/1}

& 3urd H &1 Ife gl
gr

S

BT T 2097 §, dl &Il
JEIT3T BT AT

(a) 65
(c) 64 (d) 60

?

@




J MISSION ssc 2023 AT\ IO
If x:y = 4:5, then the value of
(8x — 6Y) :(9x — 7y) is :
N\ gie; Xy = 4:5, ar (8x - 6Y) :(9x
@\q_@ﬁj_ Z - 7y) BT AT &

—@(j _ —73@— T b(éﬂl (b) 1:2 (c) 2:3 (d) 1:3




§ Q) aRERaEIF3/4%4/5 F40%
W/—Z@:H‘Q 48 8 Y 3T TEITHT 19 FAT g ?

FX :@% If 40% of 4/5 of 3/4 of a number. 48

then what is 1% of the same number?

a) 20

¢) 200 d)
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Q.) 6 T¢ UTdTcsT I shich, IH ﬁﬂfl’ra-"ll'fra—?r
24 &= A T Y Fehell &, 1 1 18 et A
HATCT et & [T 30 gfafesT fohda g¢ 1
AT g1 ?

By working 6 hours a day, Raman can
complete a piece of work in 24 days, how
many hours per day will he have to work to
finish the work in 18 days?

b) 10

c) 12 d) 16




4
3 &
3 ™
R an e §
T N :o
N

e~

s
Q)IEa-b= ssaznab Fﬁ[a -
b%) ET &

[fa-b=>5andab =6, then (33 - b3) is
equal to:

a) 225 b) 155

c) 90 Yy 215
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Ratio of the principal and the

amount after 3 years 1s 2 : 5. Find
@j the rate of interest per annum.
TeAL 3T T T 3 o F 18
f% :® AU 2 : 5 8| UTd T AT =

N

SIGEEAISER

\\J L 12%
QXIW

2. 15%

4. 20%
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A train travels a distance of (x 3+
y 3 ) kms at a speed of (x+y)

D %5_;,35 km/hr. Find the time taken by
Y the train |
> QH—& Uh ¢ (x+vy) TRAT/ger &hr

@@-ﬂg—l—&ﬂﬁ g (x3+y3 ) ﬁ—wﬂgﬂ—cﬂ' R

Eﬂaﬂaﬂ?ﬁ%l ¢l grT Torm

ST I

7)) (x2+y - Xy)

d)not

) (x%+y? -
c) (x2+y2 + xy)

2xy)
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(0.013)3 + (0.007) (0.000049) is
(0.007)% +0.013 (0.013 - 0.007)

(a)0.6 (b) 0.4 {c] 0.02 (d).004
ot V) (o= arr)

O-0l3 + 6-00) N

’-OZB’

The value of




The cost price of an artlcle,

Whlch on being sold at a gain of

ylelds @than when
Q o/_ e it is sold at a profit

afe foret a=a & 12% o9 o
\UQD _ k ]% \D‘
A= = 10% T ST 37X 6 TUA § af 39
=37 o o T U A6
1)20( 2)250

@ 4)180

48
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If in 2 years at simple interest the

principal increases by 16%, what will be
the compound interest earned (in Rs) on

Rs 25000 in 2 years at the same rate?
Ffg 2 AT H WTLRUT AT T A TAT d

® Q- j 16% T Jig gell &, ﬁw”ra@rzaﬁﬁ
&, ,

5000 T U TS SAshelleg AT (& H) AT
\C\%@w
— (a) 4000
(b) 2160
(c) 2000
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The amount received at 8% per annum

compounded interest after 2 yrs in

Rs.72900. What was the principal (in Rs)?

t T AME 8% TN skl SATS W
- .

JU_ 72900 % % Herem (& H) o
e
=)

\U} v/ JUD

(c) 60000

(d) 62500




14 3
D &7
A\ v

LR o "7 =
ER Y i NS
3, g

“chou'v"’

hi\n _—r

o If the speed of the car to that of bike is 4:3 and the
2 J ratio of the speed of the bike to that of train is 2:3
225

and the train crosses the pole in 18 seconds. If the

@NI(\

length of the train is 225m, then find the speed of the

é C@/ S r?(in kmph)
= ST kT A A STk <hi T 4:3 § 3T AT5h <Al T
L RT ¢ ShT A & FTUTA 2:3 F ARG 18 Hehs § @FH
=1 1 U hTdT 31 afe 7 1 oatg 225 et 8, dt B bl

= O
[

~ % T AT shifere? (feret ufa =ie /)

A.20kmph  B.60kmph \/Cﬁkmph D.80kmph

51
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2 ( 9 @ — 720 The.length alfd breadt.h of a .rectang.le
are in the ratio 3:2. If its perimeter is
@ 7‘7 =73 730 cm, what is the area of the
[6n = 5° rectangle?
@ Teh AT chi ATg AN TATSE 3:2
P JFTUTA U 2 TS gEhT URTe 730 AHT 2,
- W AT ST hT QTARE FHIT 82
(a) 31974 sq.cm. (b) 24452 sq.cm.
_—

(¢) 20567 sq.cm. (d) 28976 sq.cm.
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In an isosceles triangle, two equal

o | o sides are 10 cm each and the
8 unequal side is 16 cm. Find the
g @ F— height of the triangle.
[ & - |geug al AT {10

AT & 3R 319 c) 3-0'II 16

L o= \
CLHE=S el ¥ Prepe @Y SeT$ WG
AT
a)12 b) 15

@ d)6.25




14 3,

D &
A\ v
1 ¥
% ‘J,,.,.L‘ &
e, @ -
€crign ©©
afen, R

If the ratio of time period of investment of
. BxS= | and B is 4:5, profit at the end of the year is Rs.
A =137 AA00000)and A's share in it is Rs. 20000, then

@B o u>S
. _122» Y what is the ratio of A's and B's investment?
= Y - qfg A 3R B o a1 &t a8 srater st erquTa

— Se [¢ 457 TS o AT 100000 T F AR
TAH A hY TEE 20000 TUT ®, AT A STRB &
fereT =T et T R?
(a) 145 (b)8:7

\—©5:16 (d)16:5







